2019 IV 09 0930 Seat No.

Time : 2 Hours GARMENT CUTTING & SEWING
Pre Vocational (Home Science Group)

Subject Code

S|0|4]|5

Total No. of Questions : 4 (Printed Pages : 4) Maximum Marks : 40

INSTRUCTIONS : () All questions are compulsory.
(@1)) There are four questions of 10 marks each.
(Zit) Answer each question on a fresh page.
(fv) Figures to the right indicate full marks.
(v) Draw neat diagrams wherever necessary.

(vi) Use of ¥ scale is permitted.

1. (A) Select the correct alternative from those given below and write only
the answer : 1x1=1
() True bias falls on a diagonal line at.......... to the lengthwise and

crosswise grain.

(@) 75 degrees
(b) 45 degrees
(¢) 95 degrees
(d) 25 degrees
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Answer the following in 2-3 sentences (any three) : 3x2=6

1. Explain Tailors square and Brush used for drafting.
2. Write a short note on motifs.
3. Write a short note on Brooches.

4, Why should any cloth be shrunk before cutting ?

Answer the following with diagrams only : 1x3=3

1. With the help of diagrams show shaped facing for the front and

back of a neckline.

State whether the following statement is true or false : 1x1=1
1. Plackets should lap right over left for women’s garments.
Answer the following in 2-3 sentences (any three) : 3x2=6
1. How should fasterners be selected ?

2. Write a short note on Snaps.

3. Write a short note on horizontal button holes.

4, With the help of diagrams show the right side and wrong side

of a Tailored placket.
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Answer the following : 1x3=3

1. With the help of the given measurements, draft a baby bloomer

to Y4 scale.
. Seat—60 cms,

o Length—-36 cms

Name the following : 1x1=1
1. It is used on woolen fabrics and on hems of lined garments.
Answer the following in 2-3 sentences : 3x2=6
1. Describe a narrow machined stitched hem.

2. Write a short note on an invisible hem.

3. With the help of a diagram, show lock stitched hem.
Answer the following : 1x3=3

With the help of the given measurements, draft an A line frock to %

scale.

J Chest-56 cms

| Shoulder—22 cms

J Around Neck—-24 cms

o Full length-46 cms
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Select the correct alternative from those given below and write only

the answer : 1x1=1
1. A common L shaped right angle tear is called..........

(@) Straight tear

(b)  Diagonal tear

(c) Three cornered tear

(d) Curved tear

Answer the following in 2-3 sentences : 3x2=6
1. How is a fitted patch worked ?

2. Write a short note on a Three Cornered tear.

3. What is darning ?

Answer the following : 1x3=3

With the help of the given measurements, draft a Straped Petticoat

to V4 scale

o Length—40 cms
J Chest—48 cms

o Waist—-46 cms

J Shoulder-20 cms

° Around neck—-24 cms



